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The position of an object (in meters) at time ¢ (in minutes) is given by the function §(f) = ——+=—

i

for ¢ 2 (.5 . Find the acceleration of the object at time ¢ =1, Give the units of your final answer.
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Prove the derivative of tan " x.

| HINT: Consider the proof of the derivative of sin”'x that was shown in lecture,
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x 11l .
() _gg, find a formula for f''(x). Your answer may involve g, g" and/or g"". SCORE: /20 PTS
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Find the slope of the tangent line to the curve 8 + Cot— =y e ()
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A 10 ft long ladder is leaning against a wall. The base of the ladder is being pushed towards the wall at 2 ft

SCORE: ___ /25PTS

per second. How quickly is the area between the ladder, the wall and the ground changing when the base of the ladder is 6 ft from the wall ?
NOTE: Give the units of your final answer. State clearly whether the area is growing or shrinking.
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Let f(x)= arcsmx SCORE:
[a] If x changes from 0.5 to 0.4, find dy .
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[b] Approximate f'(0.4) using your answer to part [a].
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If f(x)=(3"+1)""", find the equation of the normal line at the point where x = 0.
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